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Bioinformatics II


1. Give examples of everyday problems that can be solved by an algorithm. What are the possible operations?







2. The Human Genome Project has a database with the reference DNA sequence with approximately 3 billion letters (A, C, G, T). Your genome will be different from this reference DNA, say by 0.1% or 3 million letters. If you know your genome sequence and the reference genome sequence, discuss how you might find all the differences. Remember, there are 3 BILLION letters to consider.
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1. Give examples of everyday problems that canbe slved by
an algorithm, What sre he possble aperations?

2.The Human Genome Projct as a database with the
Feference DNA sequence with approsimately 3 billon leters
(A, C.G,).Your genome wilbe diferent rom this reference.
DNA.say by 0.1% or 3 millon eters. 1fyou know your genome.
sequence and the eference genome sequence, discusshow you
might find al th differnces. Remember, here are 3 BILLION
leters to consider



